
Order of Math Operations with Numbers -20 to 20 (E-3)
CHALLENGE

Name:

Time: Score: /

449)

((30÷ 3) + (−4))+(((3− 14) + 11))÷((1× 9)− 2× (−2)) =

450)

(((10− 10)÷ (−10) + 20) + (3− 5− 6 + 10× 5÷ (−5))) =

451)

(((5 + (−10) + 13)))−10−2−(70÷ (−10)÷ (4 + (−18))× (−6)) =

452)

13−9−((18 + (−8))− (0− (−16)))÷(30÷ (−10))×5−0 =

453)

(((0× (−10))÷ (−17)))÷(−14)×(8× (−10))÷((90÷ 10) + 2× 4) =

454)

(9× (−2)) + (((13 + (−6))× 0)÷ 10× 3)÷ 1 + 9× (−4) =

455)

0× (−10)− (((4× 7÷ (−7)))) + 4÷ (−2) + 21÷ 7− 19 =

456)

((1− 7)× (9− 7))× (7 + 1× (−14)) + (1 + (−2)− 8) =
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